Creating Polynomials from Word Problems

Word Problem Extra Practice:

1) The sum of two numbers is 18.
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b. What is the maximum possible value of their product?%« |
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c. What two numbers would be used to yield the max product?
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2) Suppose that the perimeter of a rectangle is 600 ft.
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a. If x represents the width of the rectangle (in feet), then express the length
of the rectangle in terms of x as well. '

" b. Createa polyhomial that represents all possible areas of t‘he-rectangle.
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c. Find the maximum area of the rectangle. /(\ "\
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d. Give the dimensions that yield the maximum area.
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Creating Polynomials from Word Problems

3) The sum of two numbers is 22.
a. If the first integer is called x, define the second integer in terms of x.
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b. Create a polynomial that represents the sum of their squares X‘2“+y z
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(VT c. Find the smallest possible sum of their squares. a "2
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d. What are the two integers that yield this minimum value?
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intege( Sgerce 4) Afarmer has 200 feet of fencing with which to build a rectangular fence that will
have a river as its fourth side. If x represents the width of the rectangle (in feet),
then express the length of the rectangle in terms of x as well.
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a. Create a polynomial that represents all possible areas of the rectangle..

Prcee= X (200 -ax)

) — : . ‘L . [__ t,,
Arta = POOX— Ax Moo o (50, 5000)

. . A
b. Find the maximum area of the rectangle. e B
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c. Give the dimensions that yield the maximﬁm area.
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